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2018 (A)

SSC PART-II(10™ CLASS)

MATHEMATICS (SCIENCE GROUP)
GROUP-1

TIME ALLOWED: 2.10 Hours

MAXIMUM MARKS: 60

NOTE: - Write same question number and its part
number on answer book, as given in the question paper.

2. Attempt any six parts.

(i) Solve 5x*=30x by factorization.
(i) Define Quadratic equation.
(iii) Evaluate W EWE -5
(iv) If a, B are the roots of the equation
4x° - 5x + 6= 0, then find the value of 2 - 2
o
(v) Define Synthetic Division.
(vi) Find the Discriminant of the given equation:
2= Tx+1=0
(vii) Find *x” in the following proportion:
I=2:4::2%+3:7
V) Hmed gidwe S vbeny=4, Badw:
o
(ix) Define proportion.
3. Attempt any six parts. 12=2x6
(i) Define rational fraction.
(ii) O —xP 4 x4+, .
Resolve the fraction L—7€E—+—;ﬂ into proper fraction.
X"+
i) Ifx={2,4,6,...,20}andy={4,8,12,...,24)
then find x —y
(iv) Define binary relation.
(v) IfL={a,b,c}, M= {3, 4}, then find
LxMand Mx L.
(vi) IfA={1,2,3,4,5,6},B={2,4,6,8}
then prove that 4(\B=BN A4
(vii) The marks of seven students in Mathematics are as
follows
Student 1121314576 ]7
No.
Marks 45160 |74 |58 |65 63|49
Calculate Arithmetic Mean.
(Miii) Define Harmonic mean.
(ix) The salaries of five teachers (in rupees) are as follows:

SUBJECTIVE _¢i.o

-l 0 ;_wir.f .r‘:g{b.u /“' 3723 /J!ﬂﬁ:{,dﬂ}lﬁ-&)

SECTION-1 sl .2

11500, 12400, 15000, 14500, 14800
Find Range.

(213

12=2x%x6

-Eferlizge 2y

ESEF a5 =30x ()
_é_,i_f/;"Ja.l;lf‘(ﬁ;Js: (i)
witwd-5 el i)
u:’:ujyﬁ 4x% — 5% + 6=0 b a,p A (iv)
L
S adf—4—7
e dd— 5
Al S )
:é‘.{rﬁ”nﬂ/g}){abbéﬂd) (vi)
2X*—Tx+1=0
e eI LSt (vid)
Ix—2242: 2%+ 3:7
S Winv=3caw=2 sw oc% i (i)
E Il ()
S el ling 3 A s
ZEw ST O
- s LT )
LAt S S EE !
#x={2,4,6,..... , 203 Gid)

S —yin y=1{4,8,12,..., 24}

o Gwde Go

ix M={3,4} s L={a,b,c}/I W
e MxLat LxM

B={2,4,6,8} «A=1{1,2,3,4,5,6}/1 G
ANB=BNASE =t n

& ALts Pl U el (vid)

}Smdent1234567
No.

i Marks

45160 |74 |58 | 65|63 |49

Ll el

-E i P S ET A (i)

Lo (L) SiigL ()
11500, 12400, 15000, 14500, 14800
A




4. Attempt any six parts.
(i) Define angle of elevation.

(i)

Convert F%T to degrees.
(iii) Find r, when £=52cm and @ = 45°
(iv) Define projection of a point.
(v) Define a radial segment.
(vi) Define tangent of a circle.
(vii) Define segment of a circle.
viii) Define circumangle.

(ix) Define inscribed circle.

12=2x6

“E felalizg e 34y
P Ssre ai 35

AN e .F"_’z (ii)

0=45" 1 £=52 rr.szr,wr (iii)
Ealf LS v

S S5 ()
Ewluv L )
G (vid)
e (i)

Ew G ()

SECTION —1I /0 <>

Ix8=24 e (fi9 Al g F ez leird e §sd
NOTE: -~ Attempt any three questions but question No.9 is compulsory.

5. (a) Solve 5= 52

(b) Solve the simultaneous equations:
X +2y° =22
5x% + y2 =29

6. (a) Using theorem of componendo - dividendo find the

value of x+2y+x+22 if x= 4y
x-2y x-2z y+z
(b) ; ; : 9

Resolve into partial fractions: ———
(x=1D(x+2)

?.(a)IfU—{12345678910}
A=1{1,3,5,7,9},B={2,3,5, 7} then verify that
(ANBY=4'UB'

(b) Calculate variance for the following data:
10,8,9,7,5,12,8,6,8,2

8.(a) Sin6+Cos@ Cos*0
Prove that 5 =—
an“ 6 -1 Sin@—-Cost

(b) Circumscribe a circle about an equilateral
triangle ABC with each side of length 4cm.
9.  Prove that two chords of a circle which are
equidistant from the centre, are congruent.
OR
Prove that the opposite angles of any quadrilateral
inscribed in a circle are supplementary.

xX=

Sx1C =" g/ F (s

«QIJIQ;DL#)!JKI (&)
X +2y* =22
52 +y* =29
Z_YZ./'/JL-}!M(}"U;.JK}P (-6

4yz fJf(#‘..JJ x+2y x+2z

y+z X = 2y x—=2z
9 - -
GDar2’ W/ S gz ()
U=1{1,2,3,4,5,6,7,8,9,10}./1 (Lh.7

A={1,3,5,7,9},B=1{2,3,5,7}
(ANB)'=4'UB Vj)’m??
:J_;r}i’”qg()lf(_zi@ﬂ (L)
10,8,9,7,5,12,8,6,8,2
- ¥ 2 .
Sfm92+Cost9 . Cos 6 .J’“éaf,ﬁ (3-8
tan“ 8 -1 Sin@—-Cos @

40T L1 B ot PG EABCE LB IS (L)

aLnf et S primle St 9

4

_wéﬂﬁﬁkesu.&ﬁ? szgd}ff)(f(fég;-:l?
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| PAPER CODE 2018 (A) ety | A
NUMBER: 3191 SSC PART-TI (10® CLASS) ’
MATHEMATICS (SCIENCE GROUP) (/) Py
GROUP-I Ugegr
TIME ALLOWED: 20 Minutes OBJECTIVE UJ P> G220 =29
MAXIMUM MARKS: 15 15=4F

«Luﬁ-&:ﬂcwhﬁtﬂ}uj@inbﬂﬁfl.f?\.:ch.u:w/'!:.‘fé,:&izédir MQ{@uz-wZa,m»-oam;.;rg;@gidw Sl d
-V:/(,-‘Jfﬁ:, Uir.;.:,-;,,”fuj-rLl?"::pﬁ;ﬁ}&’J(L,ﬁ..'.w:‘JL.;J}';(L}U'IJ_(MJ;‘JAE._.JJE:J{J.J.:.J:“JL_;{;..‘-FLL/{[U:)'I)MLJ

Note: You have four choices for each objective type question as A, B, C and D ,The choice which you think is correct; fill that bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA

(1) An equation, whlch] remains unchanged when e 3 s Jjg;_L/’zml BN SOV ¢))
"X is replaced by — is called a/an: %
X

(A) Exponential Equation =il-dif =5 (B) Reciprocal Equation wislays &
(C) Radical Equation e hsla (ke (D) Quadratic Equation  wislefus
(2)  Roots of the equation 4x% — 5x +2 = 0 are: i AL 4xE - 5% +2=0 bl ()
(A) Irrational Fié (B) Imaginary Z (C) Rational (Pt (D) Natural J.5
(3)  Product of cube roots of unity is: e Pl ARl ()
a) 1 (B) 0 (© -1 (D) 3
(4)  The third proportional of x? and y* is: e LAY Xt (4)
Wy B ¥y © ¥, ®) i/
x x x4
) if % = -;7 » then componendo property is: :;_cfrjvj'}?ng = —:7 Si ©
A) a-b_c-d B _a _ c © o o _a_ _ ¢
b d a-b c¢-d be a+b c+d

(6) A fraction in which the degree of numerator is less Ty eSS p Tk EA S (O
than the degree of the denominator is called:

(A) Anequation =hi- (B)  Animproper fraction /a1, ¢
(C)  Anidentity i1 (D) A proper fraction A
(7)  The number of elements in powerset { 1,2, 3} is -q_dm!ﬁxfubf[,.:{»g[.{ L, 2,3} ()
(A) 4 (B) 6 (©) 8 (D) 9
(8)  The point (-1, 4) lies in the quadrant: e b iG(-1,4) L (8)
(A) 1II B) 1 (C) Iv (D) III
(9) A grouped frequency table is also called: o et eSS (©)
(A) Data .y (B) Frequency distribution (-"r Gl B
(C) Frequency polygon (w1 #$9 (D) Cumulative frequency distribution £ (5844
(10) The union of two non-collinear rays, which et L enS LR UFEB A (10)
have common end point is called:
(A) Anangle s (B) Adegree ¢35 (C) Aminute o (D) Aradian (4.
(11) The symbol for a triangle is denoted by: e LIS 60 (11)
(A) < (B 1L © © (D) A
(12) A line which has two points in common with a -L,géi'i’runj}‘/btéuibic_}bég?ﬁ..{! (12)
circle is called:
(A) Sineofacircle sine¥e_ (B) Cosine ofacircle cosine¥s_ s
(C) Secant of a circle Secant¥e_ s (D) Tangentofacircle Tangentéc_sis

(13) A pair of chords of a circle subtending two .LyUsx SRS e Ui et rS B (13)
congruent central angles is:

(A) Congruent  fi (B) Incongruent  fi*# () Over Lapping > (D)Parallel i
(14) The length of the diameter of a circle is R T g ___[.Ju;&;}uJL_,JJﬁZ_.z._/’u..Q (14)
times the radius of the circle:

(A)One (B) Two s (C) Three (D) Four A
(15) The tangent and radius of circle at the point of i poLiSn g sy (15)
contact are:

(A) Parallel zgi#Z (B) Not Perpendicular wu” ¥4 (C) Perpendicular 2+ 4 (D) Collinear L,Lwlﬁé

30 (Ob)(¥r )-2018(A)-43000°  (MULTAN)
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PAPER CODE 2018 (A)

NUMBER: 3193 SSC PART-I1 (10" CLASS)
MATHEMATICS (SCIENCE GROUP)
GROUP-I
TIME ALLOWED: 20 Minutes OBJECTIVE (.54 3 >
MAXIMUM MARKS: 15 15=4F

e L1 A LS A0 5 Ilv£._.f,r’._-f.ch_u‘u:/!xZ;_.:Ler:JJr;zgéb’du’ wZC—-JDJ}'C B« A._-Uijzbé‘)lr;-t_v)

..J/C;J’//...«Uir/.;/.gfru -B’c_bL:u"‘ /JL,L!',JHJ!‘JL.;-«J‘;U!/U-{)’J’]A hLE....U’quu'_.ﬁ"d/;/rffuﬁafffuulmu
Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in
zero mark in that question, Attempt as many questions as given in objective type question paper and leave others blank, No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 AU
(1) A fraction in which the degree of numerator is less -.T_.BM nﬂ’ :..dfsd’&,}' AP o 1)

than the degree of the denominator is called:

(A) Anequation =hl- (B)  Animproper fraction 2l #
(C) Anidentity =l (D) A proper fraction A
(2)  The number of elements in power set { 1,2, 3} is _c_dr;!ﬁJuK;li_.mLf_{ 1,2,3} (@
(A) 4 B) 6 (C) 8 (D) 9
(3)  The point (-1, 4) lies in the quadrant: e tntl(-1,4) &5 ()
(A) 11 (B) I ) 1v (D) Il
(4) A grouped frequency table is also called: c_t'M Jswridgs) (@)
(A) Data s (B) Frequency distribution £ (47 .
(C) Frequency polygon  Lusi 2.9 (D) Cumulative frequency distribution & §.59(§ %
(5)  The union of two non-collinear rays, which -_gw:f_gfgﬁx.f ot P UIEBA L (5)
have common end point is called:
(A) Anangle . (B) Adegree (/3 (C) A minute o= (D) Aradian /4.
(6)  The symbol for a triangle is denoted by: ieerld L4 Sbfaks (6)
(A) < (B L © o m A
(7) A line which has two points in common with a B S P LA L L Pk (7)
circle is called:
(A) Sineofacircle sinefei (B) Cosine of acircle cosinese iy
(C) Secant of a circle Secant¥e_7i» (D) Tangent ofacircle  Tangente /i
(8) - A pair of chords of a circle subtending two  -Lusx_ ARTstZ . Usis ;J’z._sud//J’ s (8)

congruent central angles is: .
(A) Congruent f1= (B) Incongruent  1»Z#  (C) Over Lapping /1> (D)Parallel i

(9)  The length of the diameter of a circle is P P L‘,rm&_md,uJ AL Ll (9)
times the radius of the circle:
(A) One L (B) Two s (C) Three & (D) Four e

(10) The tangent and radius of circle at the point of e suLiS g (10)
contact are:

(A) Parallel (265 L (B) Not Perpendicular (g5, (C) Perpendicular f5+*;, (D) Collinear uBAL

s 6. Wi . i - g
(11) An equation Wthh] remains unchanged when uﬁ‘ed&ﬂﬁéié’éé-/@ﬂl LEx” £ eislesy (D
“x" 1s replaced by — is called a/an: *

X
(A) Exponential Equation wist-jUe? (B) Reciprocal Equation st 5
(C) Radical Equation il ($sde (D) Quadratic Equation  <itstsfsm
(12) Roots of the equation 4x> -5x+2= 0are: _;,{}Ujuﬁ 4x*—5x+2=0 =l (12)
(A) Irrational Jif  (B) Imaginary & # () Rational Pt (D) Natural (.4
(13) Product of cube roots of unity is: :q__.,/"‘,}’bb’.,adr.dgédﬁ (13)
A 1 B) 0 @ -1 (D) 3
(14) The third proportional of x* and y* is: e A Xt (14)
(A) }7 (B) x%* ©) yy? (D) y7
X x° 4
(15) ¢ % i then componendo property is: 4_._,4_,)’“?,4% =£4 9
(A) a-b_c-d B _4 _ ¢ © 4d (D _a _ ¢
b d a-b c¢-d be a+b c+d

30 (Obj)(¥x ¥ )-2018(A)-84000  (MULTAN)




PAPER CODE 2018 (A) Q/ )

NUMBER: 3197 SSC PART-II (10® CLASS)

MATHEMATICS (SCIENCE GROUP) (/) Fu
GROUP-1 g )
TIME ALLOWED: 20 Minutes OBJECTIVE Lﬁ'i P L2420 =..f::’:
MAXIMUM MARKS: 15 15=4F

‘:.u:l_éjﬂc.gﬁgx‘:h(a}bwaﬂvL__.f.ea'.r;)a.ufu;}l:éi::ELLréJFY’/:{Léﬁ}iﬁ-u?z’4_.-:D,uIC:B:A‘:vi,Iﬁ-'fJ’g&d'-"ﬁ-d’)
-u:/;pk)(;-::-wr,;e{r,,ﬂrgf!-h’i. L_vl,:u’ﬁ;ﬁiéfgﬂ&»‘JL/’;,ﬁ fu,;u-s’m,ﬁwh,.muf.a J@JHJL/QI.:BLLI{IUJ.FUML}

Note: You have four choices for each objective type question as A, B, C and D . The choice which you think is correct; fill tha‘t bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in

zero mark in that question, Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filied. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 1A
(1) A grouped frequency table is also called: L etlUe@dsS (D
(A) Data (B) Frequency distribution &~ (.0 »
(C) Frequency polygon  {uey 2§ (D) Cumulative frequency distribution =~ (4§ ’f
(2)  The union of two non-collinear rays, which R T & PR T LT P ¢
have common end point is called:
(A) Anangle (B) Adegree ¢/3 (C) Aminute o= (D) Aradian ¢4/
(3)  The symbol for a triangle is denoted by: e eted L4 SA6dal (3)
(A) < (B 1 @© O D™ A
(4) A line which has two points in common with a BELn S L L LBL @)
circle is called:
(A) Sineofacircle sine¥esi (B) Cosine ofacircle cosinefeis
(C©) Secant of a circle Secantke i) (D) Tangent of acircle Tangent¥e 7
(5) * A pair of chords of a circle subtending two .Zyuw FAToliE e Ui R et pJ s (5)

congruent central angles is:
(A) Congruent f i (8) Incongruent 14 (0 Over Lapping /1> (D)Parallel (i
(6)  The length of the diameter of a circle is 0ot Lumle U BELe i (6)
times the radius of the circle:

(A) One 0 (B) Two (C) Three & (D) Four s
(7) The tangent and radius of circle at the point of e LIS Wiy (1)
contact are:

(A) Parallel_gss# L (B) Not Perpendicular g s+ 2 (C) Perpendicular (¥, (D) Collinear b7 L

(8) An equation, Whlch1 remains unchanged when Liee I oot d /Cwl L8 P e @
“x” is replaced by — is called a/an: %

x
(A) Exponential Equation wils(lfes (B) Reciprocal Equation wisiey &
(C) Radical Equation  ahlef (D) Quadratic Equation  wisteZsss
(9) Roots of the equation 4x2 - 5x+2=0 are: -wujué 4x*—5x+2=0 il _(9)
(A) Irrational  Jt/  (B) Imaginary ¢4 () Rational (Pt (D) Natural (.4
(10) Product of cube roots of unity is: e AL KA 36 (10)
(a) 1 B) 0 (© -1 (D) 3 I |
(11) The third proportional of x> and y* is: i A2y six (1)
(A) yy B) x%y’ ©) y% D) yy
-2 X x4
(12) ¢ g- = 5 , then componendo property is: :{_.:,gjvf}?n% = f} A a2
(A) a—b__c—d (B) a — C (C) ﬂ (D) (7] o C
b d a-b c-d be a+b c+d

(13) A fraction in which the degree of numerator is less O wl S fs MRS (1)
than the degree of the denominator is called:

(A) Anequation =isl- (B)  Animproper fraction /_als
(C) Anidentity ol " (D) A proper fraction Al
(14) The number of elements in power set { 1,2, 3} is ..q_dmfﬂdl uKJIL.:.{»gL{ 1,2,3} (a4
(A) 4 (B) 6 C) s D) 9
(15) The point (-1, 4) lies in the quadrant: b t(-1,4) B (15)
(A) I (B) 1 € Iv (D) mI

30 (Obj)(Fe¥e vy )-2018(A)=$4000 (MULTAN)
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2018 (A) [)) ) o

| SSC PART-II (10" CLASS)
MATHEMATICS (SCIENCE GROUP) (/Y P
GROUP-II I /.u...fjf
TIME ALLOWED: 2.10 Hours SUBJECTIVE _-i_» 210 =5
MAXIMUM MARKS: 60 60=4J

NOTE: - Write same question number and its part 3 v S 2 Eo s s A i s Khizod
number on answer book, as given in the question paper. Bt =2 ‘G{b"/ ARy ’lé ’

SECTION-1 sl @

2. Attempt any six parts. 12=2x6 ..é;;/“.:.ﬂglﬁé:lfl{c.df_Z/J!r
) o I 1 ;
Write the equation in standard form. —I—+—1—=3 _—— =3 .u'.‘“g 00 4 ks el sls @

x+4 x-4 x+4 x-4
(ii) Define quadratic equation.

..u.:’g._é*/""(,c.lsLﬂ(ﬁus: (i)

(iii) Discuss the nature of the roots of the equation X2 +6x —1=0 S es el Firn e GO
x*+6x ~1=0 T
(iv) Evaluate (1-w+ o’ (1- o+a?)® S )
(V) If @. B are the roots of the equation Jun 1l 4x% = 5% + 6= 0 =hiin B,all )
4x* ~ 5x + 6 = 0 then find the value of —l~+i e _1_+l
a p - o

(vi) Find the di§criminant of the given quadratic 2 +3x-1=0 y #2583 K et Gisndns (i)
equation 2x°+3x-1=0 )

(vii) Find ‘a’ if the ratios a + 3 : 7+ a and 4:5 are equal. LA# R Junas 45 ma+ 3 T+a el Gid

(viii) Define inverse variation. _u:"d 28 Giil)
. I ¢
(i) A ], and A=2 whenr =3 find ‘r’ AA=T2 Ly S Tie 1=3 o2A=2 A — )

N r

when A =72
3. Attempt any six parts. 12=2x6 -é&f*&‘fé'z'i‘-—dfﬁ/‘ld”’

(i) Define fraction. _u:“”j..@/"J/ @)
(ii) ; : ‘ 3x+3 . 3x+3 (ii)
Resolve into partial fract D —— I g —EE2 G

solve 1nto partial fraction F-D(xr12) o 4770 (-1 (x+2)
(i) If X={a,b,c}, Y= id,c} thenfind X x Y e XY inX= {a,b,c}, Y= {d, c},fr (i)
(iv) Define Binary Relation. EAFY I (2 (iv)
(V) “- X:{l‘3‘5’?""" 19}’ X:{1:3:\55? ----- L) 19}5Y2{03234-69’20}ﬁ (VJ

Y=1{0,2,4,6,....,20! then fi dXUY .
{ +then fin _u;f(}"' XUYsn

(vi) Findaand bif (a—4, b-2)=(2,1) (a-4,b-2)=2,DJu/ ™ busa )

(vii) Define Mode. SIS (i)

(viii) Find Arithmetic mean. L e (viii)
(ix) Write the formula to find mode for grouped data. _u.‘.’g S (')J-"uts.:,nmﬁa/ (ix)
4. Attempt any six parts. 12=2%x6 _é4/-'agl££.l2l{c..éf_4/dir

(1) Define quadrantal angle.
(i) Verify that (tan 6 + cot @) tan @ =sec? ¢

BOSLST IIS7rr, TR )
(tanf+cotf)tanf =sec’ @ S 2=t (i)
WD Find ¢ when 6=180°, r=4.9¢m 0=180", r=49cm S aghet =380 (i)
(iv) Define right angle. Gl Pt G

Gl FEHL W)
- i sid) m=3.1416,(radius) r =20cm S (ui)

(v) Define chord of a circle.

(vi) Find half the Perimeter of a circle with
w=3.1410,(radius) r =20cm

(vii) Define sector of a circle. _t_,{f..,y /TJ }gée}u (vii)
viii)  What is meant by incentre of a triangle? Seplfe S pm? Lol i (vii)
(ix) Define circumecircle. iu;/_g/?&:-u/u (ix)




SECTION —1II 30,2 )
3x8=24 ..q_d}UQ/:".Ulrd-a-é,;}'aglﬁéaﬂfrgf;;.af..b}

NOTE: - Attempt any three questions but question No.9 is compulsory.

5. (a) Solve the equation x> —-2%x-195=0 LEFUIE 2 X —2x—195=0chls ()5
By completing square method. - o

(b) Prove that

3 3: 1 f*._‘:/_ (--4)
P (x+y) x+ @y) K+ 0) X} 4y =(x+y) (X +oy) (X +0’y) gt

6. (a) Using componendo — dividendo theorem,

:.«UPLJWI&MJJ.‘&;J}J# (.6
(x+3)* —(x-5)° _4

(x+3)"-(x-5" 4

solve the equation:

2 2 ESS =
(x+3)’ +(x-5)" 5 S TGS 5
b
( )Resolve into partial fractions ——9——2 ——9——2— -éJ:L? B Fraliiy4 ()
(x—1)(x+2) (x=1)(x+2)
7.@IF  U={1,2345678,9,10} U={1,2,3,4,5,6,7,8,9,10} Ji (-7
A={1,3,5,7,9}, B={2,4,5,7} verify De- .
Morgan’s law (41 B)'=A"UB’ S SasinA={1,3,57,9}.B={2,4,57}

(ANBY=A'UB' -3+

(b) The marks of six students in Mathematics are  _ b A A LT A Lo L0 g (L)
as follows. Determine Standard deviation.

~ 41516
Students| 1 | 2 | 3 | 4[5 |6 [Aen 112 ]3]
No. L fe, | 60 | 70| 30 ~ 90 | 80 | 42
Marks | 60 | 70 | 30 | 90 | 80 | 42
obtained
8. (a) 1+Sin@ 1-Sin@ 1+Sin@  1-Sinb

Prove that

=4tan 6 Sec =4tan 6 Sec S St ()-8

1-Sin®  1+Sin@ 1-Sin@  1+Siné

(b) Draw two circles with Radii 3.5 cm and 2 cm. stéya}&”ﬁféu!ﬂwr’zm( 35 Jwgoaﬁ'f‘_;h,, ()
If their centres are 6 cm apart, then draw two

transverse common tangents. e S n("6
9. Prove that two chords of a circle which are g AL b S primL et d gt 9
equidistant from the centre, are congruent.
OR L
Prove that the opposite angles of any quadrilateral § ek 4 L ol g SE

inscribed in a circle are supplementary. 2
WAl
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NUMBER: 3192 SSCPART-II (10" CLASS)
MATHEMATICS (SCIENCE GROUP) (/) G
GROUP-II I /”-l-r)/r
TIME ALLOWED: 20 Minutes OBJECTIVE U‘ 0 L2420 =2y
MAXIMUM MARKS: 15 15=4F

;...{r_:q.‘:;,e’;.gfg)ﬁuﬁ}um&wéfnzu» c:_.‘j:u;/'bééf:&bfé JV;;;Q&}!X-(,{!{Z,JDAJCsB‘A.:-Qlfj:ka’:Jlr;-hb;

_Q//JJ';,T.:. Uy 4 or e Ke LyL_Juﬁ;/[j:(u:.:«u‘JL.];{)(U:?U-{):”JJ:E._.-MMJ/} Lﬂ.mr‘;{;/:;/&ﬂg/{ fu;fbuy
Note! You have four choices for each objective type question as A, B, Cand D .The choice which you think is correct; fill that bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No. 1 AUy
. X 2= = .
(1) Anequation of the type 3*+ 3** + 6 =0 s a/an hle ™ 3434620 wil (D

(A) Exponential equation =iirdlies (B) Radical equation sl (S e
(C) Reciprocal equation st s/ (D) Quadratic equation =tslr s )
(2)  Two square roots of unity are: O den 6 (2)
(A) 1,-1 ® 1,0 © 1,-o D) o, v
(3)  If @, f are the roots of x> —x — | = 0 then product Iunsul X —x—-1=0 ci- a.Bfl @)
of the roots 2@ and 28 is; et PN 284 2a
(A) -2 (B) 2 ©) 4 (D) -4
(4) In Continued Proportion a:b = b:c, ac = b’, b is said Jioac=Db%*catb=bic ..rb‘-'J’P (4)
to be proportional between a and c: _.;_w’..,ftf b vpslcsa
(A)" Third 73 B) Fourth ¥z (C) Means & (D) Second | &,

(5)  The fourth proportional w of x:y:: viw is eWAGZLY VW (5)

(A) xy (B) W (©) xyv (D) X
v X vy

(6) A fraction in which the degree of numerator is less te di . r‘rcedficf&}d/?d’wﬁﬁd:f/ (6)
than the degree of the denominator is called: ‘

(A) Anequation i~ (B)  Animproper fraction /s
(C)  AnlIdentity ~fw (D) A Proper fraction /21, )
(7) A set with no element is called: et EXRS R er (7))
(A) Infinite set erits # (B) Empty set et (C) Singleton set ex(f (D) Super set &/
(8)  The Range of R = {(1, 3), (2.2), (3,1), (4,4)} is: #R={(1,3),(22), 3,1), @A)} (&
ie-(» Range 7
(A) {1,2,4; (B) {3,2,4} ©€) 11,2,3,4} (D) {1,3,4}
(9)  The spread or scatterness of observations in a data e EWGIE Nt (9)

set is called:
(A) Average bl (B) Dispersion A= (C) Central tendency. WSS, (D) Median Sl

(10)  The union of two non-collinear rays, which -é_ﬂjf( L fEnS /.Qs’gﬁufbﬁﬁr‘? A» o (10)
have common end point is called:
(A) Anangle .5 (B) A degree ./} (C) A minute o (D) Aradian 4.
(1) The symbol for a triangle is denoted by: ‘e f B el (11)
(A) < (B) © (C) UL D A
(12) A chord passing through a centre of a circle is called: e b oS e S p L sy (12)
(A) Secant &g (B) Circumference Ls (C) Diameter & (D) Radius /15,
(13) A pair of chords of a circle subtending Lus DAVATTRY, -2y L s (13)
two congruent central angles is: g
(A) Congruent f (= (B) Incongruent J 1= # (C) Over lapping 1 » (D) Parallel (15
(14) Angle inscribed in a semi-circle is: e by e tviid  (14)
(A) o (B) 7 ©) =« D) 7
4 3 2 6
(15) tangent/tangents can be drawn from a B 2]  (Cod S i3 Lnlez (15)
point outside the circle, =TE T
(A)One (i (B) Four 4 (C) Three F (D) Two
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[ PAPER CODE 2018 (A) ())9 e

NUMBER: 3194 SSC PART-II (10™ CLASS)
MAFHEMATICS (SCIENCE GROUP) (/D) P
GROUP-II f /”"T”;
TIME ALLOWED: 20 Minutes OBJECTIVE (.5‘ 3P L2420 =2
MAXIMUM MARKS: 15 15=4F

.«—___fr-éiJ,»:'.:.u:'yZLﬁ}r,w&:w..J:_,m..-.,m-_u:um;iz_.w_vﬁwr MQnyz_u:rig_;D;,JC‘B;A.-.uz.-ﬁxgédfm-&)
—u{f-'rt.yf;cal.lrr;; g4.,)!.:-'J!-U’LbL:J..*}/'Jj’ut:,;:‘JL}’.:{fux,’-b-&'mr'?w.._.h?ufj L,C:az:’dlé../"/",f_*.bié_/{fu:}u pakJ

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in
zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 A

(1) The fourth proportional w of X1y viw is eWeAB Uy viw (1)
x

(A) xy (B W (© xyv (D)
v X vy

(2) A fraction in which the degree of numerator is less y {__L”;U,‘f 5 H’Ld IS AVIN TS - s @)
than the degree of the denominator is called:

(A) Anequation =il ; (B)  Animproper fraction ~_at
(C)  An Identity =L (D) A Proper fraction /_2is i
(3) A set with no element is called: =‘¢t'1kf ,-.-_:L-f;d/ S (3)
(A) Infinite set Losi5 # (B) Emptyset crfs  (C) Singleton set e (f (D) Super set ox 7
(4)  The Range of R = {(1, 3), (2,2), (3,1), (4.4)} is: #»R={(1,3),(2.2), 3,1), @Gy, @
ie-(» Range 7
(A) {1,2,4} (B) {3,2,4} ©) {1,2,3,4) D) {1,3,4}
(5)  The spread or scatterness of observations in a data e bUE e s (5)

set is called:
(A) Average o (B) Dispersion . (C) Central tendency o457/, (D) Median -

(6)  The union of two non-collinear rays, which et oL S LKL U F s (6)
have common end point is called:
(A) Anangle .0 (B) A degree 4./} (C) A minute & (D) Aradian 4
(7)  The symbol for a triangle is denoted by: e e JL S e ()
(A) < ® 0 © L D A
(8) A chord passing through a centre of a circle is called: :.g.L-Llp‘/ PSS ple ity (8)
(A) Secant b (B) Circumference 4# (C) Diameter 5 (D) Radigs 12
(9) A pair of chords of a circle subtending Lun GRS e UsimP e g rd s (9)
WO congruent central angles is:
(A) Congruent 1> (B) Incongruent f (= # (C) Over lapping /1> (D) Parallel 15
(10)  Angle inscribed in a semi-circle is: e bl e inid  (10)
(A) « (B) « © = @ 7=
4 3 2 6
(11) tangent/tangents can be drawn from a BEEE e Couf e s Loy (D
point outside the circle. o
(A)One (i (B) Four 4 (C) Three & (D) Two =
(12) Anequation of the type 3* + 32* + 6 =0 is a/an :'-{";-FQJ 434 6=0 en  (2)
(A) Exponential equation _—A,L»Ju'..-,i (B) Radical equation sl S e
(C) Reciprocal equation wisleys 55 (D) Quadratic equation ists@Gss
(13) Two square roots of unity are: WO Al (13)
(A) 1,-1 ® 1,0 © 1,-o D o, w’
(14) If @, B are the roots of x*—x — 1 =0 then product ISl X —-x—1=0 wits a, BN (14)
of the roots 2@ and 2 3 is: et ALK 2852
(A) -2 (B) 2 ©) 4 (D) -4
(15) In Continued Proportion a:b = bic, ac = b%, b is said e ac=b%cab=be __xb&)’v (15)
to be proportional between a and ¢; -g_rmf e b wpnlcua
(A) Third ] B) Fourth 2 () Means b-s (D) Second 1733
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NUMBER: 3196 SSC PART-1I (10® CLASS)
MAMIEMATICS (SCIENCE GROUP) (/) G
GROUP-II | /»...VJ;
TIME ALLOWED: 20 Minutes OBJECTIVE (f’ e L2420 =3y
MAXIMUM MARKS: 15 (8=

a_.{r_z_*’u,zgmﬂtﬁ;uwawL.,,nz;m;.u:u,;uzﬂarsa.védrr /;44KL}IK-{,{,?{’L;JDJJI'C‘B‘A:-!-U?-‘;J%Z:J‘-"/.’-l-‘-*)

-g{/(.:J' ?fﬁaﬂlr/_,,e/',grru‘i_ré.lgp u:f/:}Jfu:_-,.«:‘&’_/..:},fu;}u-fm;"’w.,_,rﬁu/j {,C\:-m‘!‘d’(:_-/j, /(..‘.«!'LL./{:’/UJ?!;»LJ
Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in
zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 -1/‘-24..1'!’
(1)  The Range of R = {(1, 3), (2,2), (3,1), (4,4)} is: #R={(1,3),(22),(3,1), 44}/ (D
ie-(» Range 7
(A) {1,2,4} B) {3,2,4) ©) {1,2,3,4) (D) {1,3,4}
(2)  The spread or scatterness of observations in a data =+t&'(?lL{VaIAU¢J'fJ( (6))

set is called:
(A) Average t-s (B) Dispersion A% (C) Central tendency g5, (D) Median .-

(3)  The union of two non-collinear rays, which - bl YT P LR OIS F . (3)
have common end point is called:
(A) Anangle .5 (B) A degree §./3 (C) A minute = (D) Aradian o4
(4)  The symbol for a triangle is denoted by: :q.._-/qu LS ae (8)
(A) < B © © L (D) A
(5) A chord passing through a centre of a circle is called: :c:.b'llr( Tasd s e S sl (5)
(A) Secant 64 (B) Circumference & (C) Diameter A (D) Radius i
(6) A pair of chords of a circle subtending Lun SR e Ui e s s (6)
two congruent central angles is:
(A) Congruent J i (B) Incongruent f= # (©) Over lapping /1 > (D) Parallel (515
(7)  Angle inscribed in a semi-circle is: e bangin® e i (7)
A) = (B) « © = 4
4 3 2 6
(8) tangent/tangents can be drawn from a (BEEE] o P e 5 i AL I (€))
point outside the circle. - !
(A)One (i (B) Four U (C) Three £ (D) Two
(9)  Anequation of the type 3* +3**+6=0 isa/an =-{f{—-;‘3J P43 6=0 eiuts )
(A) Exponential equation wii-di=? (B) Radical equation «hl( b
(C) Reciprocal equation wtstsys & (D) Quadratic equation sl )
(10) Two square roots of unity are: G Aend 36 (10)
A) 1,-1 ® 1,0 © L-w ™ w,o’
(11) If @, f are the roots of x> —x—1 = 0 then product Funuju/.: X =%x—1=0 bl a,f A an
of the roots 2 and 2 /3 is: e bne LK 284 20
(A) -2 B) 2 © 4 (D) -4
(12) In Continued Proportion a:b = b:c, ac = b*, b is said Seac=b’cab=b:c ._'_..4-;‘_)'“ (12)
tobe  proportional between a and ¢: et b ypeslcsa
(A) " Third e B)  Fourth #z (C) Means L D) Second Ve
(13) The fourth proportional w of x:y:: viw is W LBgxy viw  (13)
(A) xy (B W B e ® X
v x vy

(14) A fraction in which the degree of numerator is less . 0 e N6t (4
than the degree of the denominator is called: '

(A) Anequation =i~ (B)  Animproper fraction ~_2ls#
(C)  AnIdentity =& (D)  AProper fraction /26
(15) A set with no element is called: :§-t'ﬂ1‘( n,.:uf;df SSer (15

(A) Infinite set wrt3 7  (B) Empty set 2o (C) Singleton set oot (D) Super set &x
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TIME ALLOWED: 20 Minutes OBJECTIVE O‘ 3 2220 =22
MAXIMUM MARKS: 15 15=4S

c:.....l_._/f..’qf*:}/.‘c.pﬁ LLL:’:ED.‘W Jﬂlvﬁ..,-!z.:—ﬁ::_g:ur}béég. el Jfr,:,,;géﬁ}iﬁuwié.JD‘r:fC:BlAg-i,iﬁ;«pigd:JIfﬁ-@;
*u{j&f?’ﬁ.:.«l"/.;,g/',:’H’Ji-(E_E;QJu.?;/J;pC n:.ru"JL;J;:;UJ:‘U-(HJ!‘B.&R?U?UJ(;(ﬂu&:}‘JL[J‘:/&@LI{J{U};UuLJ

Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble ?n
front of that question number. On bubble sheet, use marker or pen to fill the bubbles, Cutting or filling two or more bubbles will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA Iy
(1) The symbol for a triangle is denoted by: e e tbf S ek (1)
(A) < ® © ) L ™ A
(2) A chord passing through a centre of a circle is called: :q..':llr( Sl ple iy (@)
(A) Secant 51 (B) Circumference bs (C) Diameter & (D) Radius i
(3) A pair of chords of a circle subtending Lun VATl e UiimP et rJ s (3)
two congruent central angles is: .
(A) Congruent f (= (B) Incongruent J ¢ # (c) Over lapping /1 > (D) Parallel (i
(4)  Angle inscribed in a semi-circle is: i baastion® e incid  (4)
(A) = (B) « © z ) =
4 3 2 6
(5) tangent/tangents can be drawn from a (HE 2]  PoE e 5 L Lt )
point outside the circle. N
(A) One (i (B) Four 4 (C) Three of (D) Two 5
(6)  Anequation of the type 3* +3**+6=0 isa/an Uﬁﬁ:-(jd' P43 6=0 ol (6)
(A) Exponential equation whsi-(iied (B) Radical equation wisls(S. i
(C) Reciprocal equation wisieys 5 (D) Quadratic equation =islsfsss )
(7)  Two square roots of unity are: WA enl 6 (7)
(A) 1,—-1 ® 1,w © 1,-w D o, w’
(8) If &, B are the roots of x*—x —1=0 then product ?u:wJu&: X —x=1=0 =i a.pfi ®
of the roots 2 and 2 8 is: ety S8 2845 20
(a) -2 (B) 2 ©) 4 (D) -4
(9)  In Continued Proportion a:b = b:c, ac = bz, b is said Viac=b%cab=bic gt‘id’y 9
to be proportional between a and c: _:.;..b'Lb.f —t b wesLlcna
(&) Third | P ®B)  Fourth ¥z (C) Means b~ D) Second Ve
(10) The fourth proportional w of x:y:: viw is eWeABz Ay viw  (10)
(A) kit B ¥ (©) xyv B £
V x vy

(11) A fraction in which the degree of numerator is less e il e f’ =SS psibless? s QD
than the degree of the denominator is called: '

(A) Anequation =i~ (B)  Animproper fraction i ¢
(C)  AnIdentity =L (D) A Proper fraction ~/_zis
(12) A set with no element is called: e b Ay (12)
(A) Infinite set cxsits # (B) Empty set exJ6  (C) Singletonset x06 (D) Super set 2~
(13) The Range of R = {(1, 3), (2,2), (3,1, (4,4)} is: #R={(1,3),22), G, @4}/ (13
ie-(» Range J
(A) {1,2,4} (B) {3,2,4} ©) {1,2,3,4} (D) {1,3,4}
(14) The spread or scatterness of observations in a data e by’ (14)

set is called:
(A) Average s  (B) Dispersion A5 (C) Central tendency wi.§7, (D) Median .:l-s

(15) The union of two non-collinear rays, which e bl P LS U A s (15)
have commeon end point is called:
(A) Anangle .5 (B) A degree .3 (C) A minute o (D) Aradian 4/
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